HE MAZOMANIE SICKLE.

VOL. XLIX.

MAZOMANIE, DANE COUNTY, WISCONSIN, FRIDAY, MCH. 10, 1922.

OILS AND GREASES

We handle the Celebrated Mobiloil in Barrel and Can Lots—the best known oil on the market.

We also have the Bartle-Maguire Bonded Oils.

A very good medium oil in 5-gal. lots at 60c per Gal.
A splendid medium oil in 5-gal. lots at 80c per Gal.
Separator Oil,
Cup Grease or Hard Oil in bulk, at
Cup Grease in 10-pound pails,
\$1.60 per Pail

USE VALVOLINE GASOLINE, THE BETTER GAS.

ELLSWORTH & MATHER

SOCIAL CENTER

SCHMITZ' HALL,

MAZOMANIE, WIS.

Friday, March 10, 1922

A. B. JOHNSON, :: READER

... PROGRAM ...

Community Singing.

MUSIC

High School Orchestra
"Squire Hawkins' Story."
"Violating Her Hospitality."
"The Teacher." Junior Orchestra
"The Old Man Goes To Town."

"Farewell To An Old Shoe."
"The Fourth of July."
"Just A Girl." Mrs. Post

"The Swan Song." Mandolin Duet High School Orchestra

16 MAJESTIC THEATER. MAZOMANIE, WIS.

FRIDAY AND SATURDAY, MARCH 10 AND 11. Adolph Zukor presents Gearge Fitzmaurice's Big, Special Production, shown at the popular prices, "ON WITH THE DANCE,"

"ON WITH THE DANCE,"

With MAE MURRAY and DAVID POWELL, and an All Star Cast. Photoplay by Ouida Bergere, founded on the play of the same name by Michael Morton. This Big Special played a whole week at the Strand hoater in Madison to large, satisfied crowds, at advanced prices. It's a Paramount and Arteraft Picture," which stands for excellence.

Also another one of those splendid Dog Comedies, faturing Brownie, the Wonder Dog, and Baby Peggy, the youngest star in the world, in "Golfing."

Don't miss this excellent program. Be in your sea's early, and avoid the being disturbed.

Admission: Children 10c. Adults 25c; war tax nail.

Admission: Children 10c, Adults 25c; war tax paid.

SUNDAY AND MONDAY, MARCH 12 AND 13. Paramount and Arteraft Pictures presents the most Popular Western Star on the Screen, WILLIAM S. HART, and an All Star Cast, in

"SQUARE DEAL SANDERSON."

Story by Charles Alden Seltzer in Argosy. His girl, his horse and his gun! Mix em up with William S. Hart in a fight against wrong, then sit tight and watch the fur fly. Nufl sed. It's a dandy story, a dandy picture, and a dandy star.

With this Splendid Program goes a fine Comedy, entitled, "Betty Sets The Pace."

Admission: Children 10c, Adults 25c; war tax paid.

CASSELL

CHURCHES :: SOCIETIES

OF PERCALE AND DIMITY

JOHN NESVACIL

HEATING **PLUMBING** Sheet Metal Work

MAZOMANIE,

WISCONSIN

inere's More Real Satisfaction" says the Good Judge



In a little of the Real Tobacco Chew, than you ever got out of the ordinary kind.

The good rich taste lasts so long you don't need a fresh chew nearly as often-that's why it costs you less to chew this class of tobacco.

Any man who uses the Real Tobacco Chew will tell you

W-B CUT is a long fine-cut tobacco RIGHT CUT is a short-cut toba

Peter Fass was at Lodi on Thursday Fred Evert lost a valuable horse last

A sirge number of relatives and friesda gathered at the home of Mr. and Mrs. Louis Nieudorf and family, and Mrs. Louis Nieudorf and family, and the celebrate Mr. Niendowski, the celebrate Mr. Niendowski, and the celebrate Mr. Niendowski, and Mrs. Henry Schuman, Jr., Jast Priday, to help selderate Mrs. Schumann's birthday,

Mrs. Ralph Walters, five pounds Gold Bond coffee given by Davies & Son. Mrs. A. G. Ellis, not water bottle, given by Geo, A. Shleids. Ruth Calkins, sack Golden Palace flour, given by Paylow's Dept. Store Co. Olive Evert, pair ladies' silk hose, viven by Paylow's Dept. Store Co. Chas. Parr., pair Beaver Dan overalls often by Paylow's Dept. Store Co. Vactine Parrell, four pounds Paylow's Secial coffee, given by Paylow's Dept. ore Co.

Pred Peterson, \$1.00 in trade, giver y H. E. Fey, harber. Benj. Showers, box cigars, given by tan. A. Griffith & Son, Hotel Maso. Lucille Sutcliffe, Black Earth, Av finister rug, given by Knapp & Son. John Sweeney, one gallon (honey tean by H. Lauple).

on of Lappley.

Lester Hodgonon, Arena, Big. Ben latra clock, given by M. J. Zangl. Mrs. E. E. Schumum, pair ladles' silk 1006, given by M. J. Zangl. 1006, given by M. J. Zangl. Mrs. E. F. Scherchel, ladder unbrella, frem by Murrish & Son. Mrs. Lett. Schwerbel, ladder unbrella, frem by Murrish & Son. Bay Lower, pair Orbhodn overalls, twen by Murrish & Son. Trace: Cooper, Mine Money.

HOES And Footwear Of All Kinds

Expert Shoe Repairing Done Also

Work Shirts, Woolen Shirts, Socks and Overalls at Bargain Prices

We also carry a Good Line of SHOES, at rea-

We have a line of second hand shoes, which we will sell at reasonable prices.

We buy Hides. Also all kinds of Marketable Junk. Highest Market Prices Paid.

Ben Wein & Son

Crescent Street, West of Sickle office.

THE SICKLE

Advertising Rates,
Display, 10 and 15 cents per inch
Reading Notices, 5 cents per line

Foreign Advertising Representative THE AMERICAN PRESS ASSOCIATION

A mark in this space indicates that your subscription to the Sickle has expired. Prompt remittance for renewal will be kreatly appreciated, and will insure continued delivery. The Sickle is payable in advance, at \$2.00 per year.

ARENA

George Greens, of Madison, was an day of last week.

Arean calter and tweek Tuesday.

Mrs. Waiton 200 Twe critifers visited

Madison several days last week.

Misses Elizabeth and Rachel Hatch

Mrs. Schipt, Wednesday structus,

Mrs. Schipt visited at

Mrs. Schipt visited at the Schioment home several days last week.

Mrs. Schipt visited her sinter in

Mrs. Schipt visited at the home of

Mrs. John Peterson, Wednesday of last

Mrs. Schipt visited at the home of

Mrs. John Peterson, Wednesday of last

Mrs. Schipt visited her sinter in

loopfield at Madison, Thursday of last

Mrs. Walter Erickson, of Rockford

Inc. John Peterson, Wednesday of last

Mrs. Walter Leickson, of Rockford

Mrs. John Peterson, Wednesday of last

Mrs. Walter Leickson, of Rockford

Mrs. John Peterson, Wednesday of last

Mrs. Mrs. Mrs. Walter Leickson, of Rockford

Mrs. John Peterson, Wednesday of last

John Peterson, Wednesday and week.

Mrs. John Peterson, Wednesday of last

John Peterson, Wed

Wash. Dayis returned, last, week, from Minnespoles, where he has been visiting relatives.

Mr. and Mrs. John Elliott, of Wausela, visited at the Schloemer home several days has tweek.

The Arena Cow Testing Association held a meeting at the high school last bell as the school has been as the seven of the seven of the seven which was the seven which was the seven which was the seven has a seven which was the seven has a seven which was the seven has a seven h

BLACK EARTH

PLAIDS AND FRINGES



LOW ROUND TRIP HOMESEEKERS

FARES

Tickets on sale first and third Treesday of each month from March to November inclusive. To points in North and South Dakota, Montana, Washington, and Idaho.

CHICAGO
Milwaukee & St. Paul

TRAGER'S.

We are putting on a Sale of Canned Fruits, Berries, Jelly, and Jame, which we will sell at prices we know are below what others are selling same quality of goods by at least ten to fifteen cents per

We are going to discontinue all brands of canned goods excepting Turnstile Brand, and offer until sold out at 25c per can, the following large

Peaches, Apricots, Greengage and Egg Plums, Pine-apple, assorted Fruits, Blue Berries, Loganberries, Cher-ries, Pears, etc.

For those that were unable or did not know of our offer last week on Cocoa, we will repeat our offer until sold out —one pound FREE with the sale of one pound, and we do, not charge you two prices for the one pound. 15 cents gives you the two pounds.

What 10 cents will buy:— Canned Corn, Peas, Codfish, Mackerel, Beans — Packages Oat Meal, Jello, Cornflakes, etc.

For Groceries at prices as low and lower than others, try

F. O. B. FACTORY.

Pully and Brake, Governor, Platform and Fenders, \$1,0000	ticular, that has donated last year over	0
	a show a should merchant that	
THIS IS THE LOWEST PRICE EVER QUOTED ON A TRACTOR OF THIS SIZE, QUALITY, AND CAPACITY.	that I'm convinced that a man like the speaker, and lots others which are classed with him, do not donate one-	-
You want the most for your money in a Tractor and Power Implement. Get the rest of our New Proposition before buying.	tenth of any of the above figures to build up the Kingdom of God, but are always ready to collect money in order to tell the people what to do. I also want to answer your question	
SEE YOUR LOCAL SAMSON DEALER AT ONCE!	in regard to closing on Sunday. The speaker has stated that the merchant	İ
Samson Trucks Including Inclosed Cab, Double Box, Fenders, War Tax, and Freight and Delivery Charges:	who keeps open on Sunday is a criminal and thief. It is a matter of opinion.	İ
	that if the merchant is selling goods which I know and you know that every	ł
Samson 2-bottom Tractor Gang, 14-inch. 115.00 Samson 2-disk Tractor Plew. 125.00	get value received. How much value received did you get last Sunday at the	İ
Samson Power Harrows, 7 feet, 16-inch Disks. 60.00 Samson Power Harrows, 8 feet, 16-inch Disks	changed hands on the Sabbath day? I want to say to you that there is no more crime for a merchant to sell you a	į
Samson Tandem Power Harrows, 7 feet, 16-inch Disks	loaf of bread on Sunday for ten cents than there is for the speaker to collect from a dollar to ten dollars on the	ŀ
Terms, by General Motors Acceptance Corporation on Samson Tractors, Trucks, and Power Implements, 39 per cent. of purchase price cash, and balance in 12 equal monthly payments.	Sabbath day. If there is a state law that every business place should be closed on Sunday, where are your village off-	l
WE WILL GIVE A VERY LIBERAL DISCOUNT ON	cials? Where are your village fathers, and church authorities?	Ē
HORSE-DRAWN IMPLEMENTS IF CASH	If you want to know why we keep open on Sunday, I'll make it short and	ŧ
IS PAID AT TIME OF PURCHASE.	sweet. I'm going to take off the lid	ŧ
tiorse Drawn implements, Formerly danesville Line. This Price Includes	of those who half raised their hands	ĕ
rivigus, Seiting Up and Delivery Charge;	when requested in favor of closing the	ě

WE WILL GIVE A VERY LIBERAL DISCOUNT ON

Walking Plow, 12-inch, S. & S.	
Walking Plow, 14-inch, S. & S.	\$18
Walking Plow, 16-inch, S. & S.	18
Corn Planter, 7 B	
Fertilizer Attachment for whom Complete	51
Fertilizer Attachment for above Cornplanter	13
Gang Plow, 14-inch, with Coulter	95
Disk. 6-foot	97
Disk, 6-foot. Disk, 7-foot.	43
Lever Harrow, 3-section	, 46
Spring Tooth, per section	27
Jorn Cultivator Cabonal at test	9
Corn Cultivator, 6-shovel, pin break	42
Corn Cultivator, 6-shovel, spring trip.	45
forn Cultivator, 8-shovel, pin break	43
Corn Cultivator, 8-shovel, spring trip.	48
Corn Cultivator, 2-row, 12-shovel, pin break	75
Corn Cultivator, 2-row, 12-shoyel, spring trip	82

The Samson Tractor Company is a Division of the General Motors Corporation.

J. U. Schmidt

AUTHORIZED DEALER.

PRAIRIE DU SAC, Thone No. 273W.

WISCONSIN

Office and Showroom one Door North of News Office.

MURRISH & SONS

Mazomanie, Wis.

Spring is on The Way

THINGS YOU WILL FIND ON DISPLAY AT OUR STORE

UMBRELLAS FOR SPRING

Carmen Hair Nets,

Two for Twenty-five Cents

For the ladies who wear des and materials to offer. ear Bloomers, we have many seasonable

Smart styles and the newest shades in Waists and Blouses. New patterns in Foulard Silks.

Tafetta Silks in changeable colors-also navy, green, brown,

PERCALES

Our shelves are fully stocked to afford you an opportunity to choose the pattern just suited to your needs.

Patent Leather Belts in black and white-also beaded Belts and Girdles.

FOOTWEAR

For afternoon wear, the black Patent Leather Slipper is popular. We have this decidedly good looking and well made Shoe at a reasonable price, as well as many other models.

"COURTESY FIRST-A SQUARE DEAL ALWAYS."



The Investment Behind You Telephone

THE telephone astrument is all that the average man sees of the telephone system. Yet back of this simple instrument stands an immense investment in wires, cables, conduits, buildings and switchboard apparatus. It is this property that gives security and value to

WISCONSIN TELEPHONE COMPANY

7% PREFERRED STOCK

Every Subscriber A Partner

-The Ladies' Aid will hold a fruit and candy sale, Friday, March 17, at the M. E. church, beginning at 10:30

Ask any of our employees.

IPHE SICKLE.

MAZOMANIE, WIS., MARCH 10, 1922

OF LOCAL INTEREST

New Ade This Week

J. U. Schmidt. Wisconsin Telephone Co. Paylow's Department Store Co.

"Henry and Gilbert Linley wondison, Tuesday.

-Lake perch, 11 cents per po

Mrs. Frank Mikula and son, Jan t to Milwaukee this morning.

ter at Madison, has returned to her home in this village.

A daughter was lorn to Mr. and shire, with miles bendaches, sour storm of Mr. and shire with the miles and the miles with the miles and the miles with the mi

constricts, Maxomanie, Wis.

Mrs. Joseph Gorst and children, of Malison, sport the end of last week takes the creek a short districted arross the creek a short districted with Mrs. Ratharine Gorst.

Mr. and Mrs. Its. W. Harrop.

Nature Intended that you should the carry to the Tealing Corp.

The Corp. The

enty-seven acres, choice piece of land.—Mrs. Clara Kerr. 52t

Notice of Village Cauc

The village caucus for the village of Maxomanie will be held at the village hall on Friday evening, March 17, 1922, at seven o'clock, to place in nomination candidates for the various village of-fices. Caucus Committee.

Notice of Town Cancus

Nonce of TWE CARRIS.

A caucus for the township of Mazo-manie will be held at the town hall, in the village of Mazomanie, at two o'clock, Saturday afternoon, March 18, 1922, to place in nomination candidates for the various town offices.

Caucus Committee.

Radio Notes.

Those who have requested information, and membership in the association,
will be given application cards within
few days.

The University radiophone station
will broadcast its annual concert, on
Friday evening. Take this opportunity
to "listen in" at any of the local stations.

tions.

The concert given last Fridan by the Girls' Glee Club of the university while very fine, was not broadcasted as necessfully as mend, due to employing a new transmission line between the Music hall and the radio station. The circuits were balanced with difficulty after considerable reduction in power was made.

—Mrs. Wm. Ludemann and baby, of Madison, spent part of the week with her parents, Mr. and Mrs. Thos. Grose, and family. No Substitute Offered.

Say what you will about druggists offering something "just as good" because it pays a better profit, the fact still stands that inhety-nine out of a hundred druggists recommend Chamberlain's Colle and Diarrhoes Remody, when the best remedy for diarrhoes is asked for, and do so because they know

Thursday, to attend a Sunday school COUNCIL PROCEEDINGS NOTICES, FOR SALE, ETC

A regular meeting of the village half on Friday evening, March 3, 1922. All members were present except Trustee H. E. Trager. The minutes of the last meeting were read and approved. The following bills were presented and ordered paid:

Wis. River Power Co., current, \$211.24 E. A. Quarfot Co., supplies, 3.15 H. M. Jappley, Insuranco., Taylor Electric Co., supplies, 30, J. U. Braun, aslary and expenses, 23.55 Crescent Electric Co., supplies, 69,79 John Segobrecht, freight, 9,50 John Segobrecht, freight, 9,50 L. B. D. Beun, aslary, and expenses, 23.55 L. H. M. L. Swan, printing, 44.55 Grussel, Quarfot Co., supplies, 71,50 Mos. Bridger Co., instarres, 2,70 Mos. Bridger Co., 2,70 Mos. Bridger Co., 2,70 Mos. Bridger "I have sold over 2,000 bottles of Tanlac and have never had a dissatis-fied customer," writes Smiser's Drug Store, Columbia, Tenn.—Shields' Phar-

-From coast to coast Tanlac is known and honored and militons have taken it and pronounced it the greatest medicine of all times.—Shields' Phar-

—Owing to some apparent misun 'A-standing, the funds thus far collected locally for the Russian relief will be held here until further information is accured.

—Mr. and Mrs. Jas. Broderick, Mrs. Chas. Kiley and daughter, Frank Lin-ley, Herman Linley, Dr. F. L. Griswold, and Joseph Lamberty were at Madison, Wednesday.

—Your money's worth of results pos-itively guaranteed by taking HOLLIS-TER's ROCKY MOUNTAIN TEA— You can't "beat it" for beadaches and constipation.—H. Lappley. —During the past week the Mazo Motor Co. has sold Fordson tractors to M. W. Showers and Gus. Heimenstines a Ford coupe to Henry Taylor, and a Ford runabout to John Virnig.

and Vancouver, B. C., by the most direct railway route, is 3,646 miles, which is 615 miles more than the dis-tance between London, England, and Constantinonic Turkey by the second between London, England, an stantinople, Turkey, by the trans-pegn railway.

H. LAPPLEY
NOTARY PUBLIC
ire and Life Insurance Agent
for the Prudential Life
Insurance Co.

Catarrh

Catarrh is a local disease, greatly to findenced by constitutional conditions. HALI/S CATARRH MEDICINE is a Tonic and Blood Purifier. By cleaning the blood and building up the System, HALI/S CATARRH MEDICINE. restores normal conditions and allows Nature to do its work.

All Druggista. Circulars free. F.J. Chency & C., Toledo, Ohio.

THE PEOPLE'S STORE

IS THE STORE THAT SAVES YOU MONEY MAZOMANIE, WISCONSIN

Spring Opening!

WE NOW HAVE A FULL LINE OF SPRING DRESS GOODS. THE MOST UP-TO-DATE LINE OF GINGHAMS WE HAVE EVER CARRIED .-ALSO OTHER DRESS GOODS, AND CHILD-REN'S READY-MADE DRESSES, ROMPERS, AND WASH SUITS. THESE ARE THE PRETTI-EST STYLES TO GET.

MEN'S, WOMEN'S, AND CHILDREN'S SUM-MER UNDERWEAR AT A SURPRISINGLY LOW

APRONS, FROM 75 CENTS TO \$1.25.

A BIG LINE OF LADIES' SPRING HATS AT A LOW PRICE.

YOU NO DOUBT KNOW THAT WE ALWAYS PAY THE HIGHEST MARKET PRICE FOR EGGS.

Paylow's Department Store Co. Call 75 F-2 For Your Groceries

For Sale.—Three brood sows, will far-row in April.—John Beckman.

ced Potatoes.—Early Irish Cobbler seed potatoes for sale.—John Beck-

Lost.—A silver-plated Eversharp pen etl. Finder please return to Raphae Lucey.

Wanted to Buy.—House with seven or eight rooms. Price must be right.— C. S. Kiley. 4tf

For Sale.—The John Royston residence property in this village.—Inquire of W. F. Royston, 'phone 122-M. 5tf

horn setting eggs, 65c per setting— rban 1 Stupfel, phone 14-F-12. Gt

Day Old Chicks For Sale. First hatch to be ready about the 15th of March Get your orders in now. Mano Poultry k Egg Co.

for Sale.—House and barn and more than one block of land in the village of Mazomanie.—Inquire of Geo. Sur-em, Muscoda, Wis. 5w5

A. G. ELLIS
LOCAL REPRESENTATIVE
Maremanle, Wis.

W. C. P. WEINSCHENK

HARDWARE HEATING **PLUMBING** REPAIRING, ETC.

The Corner Hardware

WE HAVE NOT SAID MUCH-

About our bargains lately, for our customers are advertising them for us. People come and say: "Can you give me a bargain in a suit and overcoat like you sold Mr. So and So?" And from other towns and states they write: "We hear that you are selling suits and overcoats cheap. Please send me two or three suits to pick from."

People don't order clothing from us just for the sake of buying from us. There is a reason. They are after saving the \$15.00 or \$20.00. At the present time, we have values that nobody can the same of the same o duplicate.

BUTZ BROS.



Authorized Sales and Service

Storage

Accessories

Mazo Motor Co.

New Garage,

'Phone 23

Cor. State and Crescent Sts., MAZOMANIE, WIS.

TAX TABLE FOR DANE COUNTY.

SHOWING THE PER CAPITA TAX PAID IN THE VARIOUS VILLAGES, CITIES, AND TOWNSHIPS IN THE COUNTY.

3	a on manage	147	tion-	Person	Acres	
3		\$ 51.168	1,271	\$42.23	22,547	
3	Berry	25,021	845	29.61	23,003	220
3	Black Earth		356	46.98	11,106	
3	Blooming Grove		971	57,20	17,661	
3	Blue Mounds		873	47.65	21,350	
j	Bristol	29,848	1.111	26.87	22,797	
3	Burke	44,733	1,250	35.53	22,424	
ı	Christiana	49,109	1,419	34.61	22,376	
	Cottage Grove	56,939	1,255	45.37	22,331	
i	Cross Plains	25,033	1,241	24.25	22,881	
ŧ	Dane	36,460	830.	43.94	22,943	
ı	Deerfield	35,761	928	38.53		
ı	Dunkirk	54,810	1,537	35.66	21,960	
ı	Dunn	30,137	1.145		21,993	
ł	Fitchburg	39,363	1,059	26.32	17,799	
ŝ	Madison	84.088	2,327	37.17	22,942	
ì	Mazomanie	22,928		36.14	8,468	99
i	Medina	29,848	451	50.84	18,978	
ı	Middleton	53,661	908	32.87	21,923	
ł	Montrose		922	58.20	22,005	
ł	Oregon	35,624	786	45.32	21,889	
t	Perry	36,816	734	50.16	21,137	
		34,479	945	36.49	22,902	
I	Pleasant Springs	41,607	1,122	37,08	21,234	
ł	Primrose	30,515	684	- 44.61	22,655	
ı	Roxbury	32,504	904	35.46	22,667	
l	Rutland	52,799	992	53.23	22,479	
I	Springdale	35,819	931	38.47	22,894	
ı	Springfield	28,948	1,072	27.00	22,972	
į	Sun Prairie	34,497	956	36,09	21,899	
ı	Vermont	25,498	745	34.23	22,900	
ı	Verona	36,379	1,377	34.56	23,132	
	Vienna	33,927	904	37.53	22,957	
ā	Westport	39,887	1,653	24.13	17.621	
ı	Windsor	53,806	1,409	38.19	22,307	
ß	York	33,681	798	42.21	22,871	
2	Belleville village	21,978	559	39.32	207	
þ	Black Earth village	13.185	464	28.41	198	
ì	liue Mounds village	3,715	THE RESERVE		308	199
1	Brooklyn village	2,333	117	19.94	238	
•	ambridge village	18,272	490	37.29	532	N/O
ķ	cross Plains village	5,060		24.25	302	
1	ane village	7,999	316	22.85	575	
1	Deerfield village	15,444	594	26.00		-
1	e Forest village	16,871	301	20.00	209	135
3	Iadison city1	10,011	38,378	50.30	274	
s	farshall village	8,442	497			-
۵	Inzemanie village	12,743		16.99	537	
s	IcFr land village	7,993	756	16.86	-	45
ì	fidd: ton village	20,600			745	-
١	It. I reb village		791	26,04	533	10
þ	regon village	51,178	1,250	.37.91	987	
þ	ockdale village	25,786	871	29.60	1,135	-
	tomphton die	3,180	139	22.87	90	200
9	toughton cityun Prairie village	198,606	5,101	38.93	-	-
d		41,130	1,236	33,28	556	1
1	erona village	11,211		84.56	-	
	a halos villages	Landia	14.63	CHARLES OF	1,714	

LEGAL NOTICES

all county, deceased.

All such claims for examination and owance must be presented to said orn, at the Court House, in the city Madison, in said county, on or before e 6th day of July, A. D. 1922, or be

EXAMINATION CONSULTATION FREE



Solicits obstinate cases

which failed to respond to ordinary treatment.

MADISON, WIS., WEDNESDAY MARCH 22,

Doctor Turbin

J. W. KESTER, M. D. Physician :: Surgeon

All calls promptly attended to

F. L. GRISWOLD, M.D. PHYSICIAN :: SURGEON

Night at Residence. Phone No. 6. MAZOMANIE, WIS.

DR. L. C SCHEET

DENTIST

F. J. & G. S. BELL. REAL ESTATE, AND AUCTIONEERING

Chicago Sunday Tribune

The World's Greatest Newspaper -and Why

BECAUSE it contains the world's greatest comic section-the greatest funny pictures published-the work of such famous artists as Sidney Smith (The Gumps), Carl Ed (Harold Teen), Carey Orr (Kernel Cootie), Frank King (Gasoline Alley).

big tabloid featuring stories by America's greatest fiction authors -Blue Ribbon short stories and novels of interest to every man, woman and child.

BECAUSE it contains the world's greatest Rotogravure section a pictorial review of all the important events of the world—the day rotogravure section published by any Chicago newspaper. And for every other good newspaper reason.

Get The Chicago Sunday Tribune Every Sunday

ORDER IT IN ADVANCE FROM YOUR NEWSDEALER.

Our Improved Radiator Shutter is Operated from the Dash

Made of Waterproof Fiber Composition. Retains the Heat, Better than Metal. Doesn't Rust or Rattle.

SAVES GAS, BATTERY, FREEZING Made to Fit All Cars. Makes Starting Easy.

end us \$2, and Name of Car for One Complete Postpaid Town and County Agents Wanted Reference: Dun's and Bradstreets

sential Automotive Products Co., 511 W.42d St., N.Y. City

The Mazomanie, Black Earth, Cross Plains, Middleton, Madison TRUCK LINE

LOCAL AND LONG DISTANCE MOVING

GOOD SERVICE. REASONABLE RATES.

FOR INFORMATION APPLY TO-S. A. Mackesey, Mazomanie, Wis.

EÅGLE"MIKADO"

EAGLE PENCIL COMPANY, NEW YORK

SICKLE ADA BRING SURE RESULTS.